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1.  Explain the characteristics of labour and explain the labour issues in India.

Discuss on labour policy in India.

Describe the characteristics of Labours in India.

Do you believe that the labour market flexibility is necessary in the present times ? Why ?
Write a note on Wage policy of India.

Critically evaluate the principle of marginal productivity of wage determination.

Discuss the meaning, nature and scope of collective bargaining power.

S B e B

Write a note on Workers participation in India.

9.  Give right options from below. (write any four) 8
(1)  Which of the following is not a peculiarity of a labour market ?
(a) Labour market is normally local in nature.
(b) The members of buyer is less than members of sellers.
(c) Labour is less mobile.

(d) Worker can sell not only his own labour but also the labour of his fellow
workers.

(2) Which of the following is not the purpose of the pay policy ?
(a) Eliminate non-wage payment methods.
(b) Determine the maximum wage for workers.
(c) Compensate workers for their contribution to economic development.

(d) Achieve efficiency in allocation and utilization of manpower.
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India’s biggest Labour Union

(a) United Trade Union Congress

(b) All India Trade Union Congress

(¢) Indian National Trade Union Congress
(d) Hind Mazdoor Sangathan

The measures of workers real wages is

(a) the change in his productivity over a given time
(b) his earning after deduction at source

(¢) his daily earnings

(d) the purchasing power of his earning

When was the Employees State Insurance Act first passed ?
(a) 1948 (b) 1960
(c) 1919 (d) 1947

The concept of collective bargaining was given by which of the following ?
(a) Frank Tanenbom (b) Beatrice Webb
(c) R.F.C (d) Gandhiji

Head office of the International Labour Organization is at
(a@) Mumbai (b) New York
(c) London (d) Geneva

In which year the Employees Provident Fund Act came into force ?
(a) 1955 (b) 2004
(c) 1962 (d) 1952




